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BCA. Examination 2018-2019

(Even Semester)

MATHEMATICS 1

Time : Three Hours] [Maximum Marks : 60

Note :— Attempt all questions.

SECTION-A
1. Attempt all parts of the following : 8x 1=8

(a) WritethesetA={1,2,3.4,56,7.8 } in the
set-builder form.

(b) IfA=1{1,2,3} find P(A)

(c) Ifaset A has m elements how many ralations

are there from A to A.

(d) Ifthe function f: R — R defined by f(x) = X2,
find f' (4).

(e) Draw the Hasse diagram for the set of factors

of 17 for relation divides.
[P.T.O.
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(¢) If(L,” V)iscomplemented distributive lattice
then the complement of a€l. is unique.

6. Attempt any two parts : 2x5=10

(@)  The necessary and sufYicient condition for a non
empty subset H of a group (G, 0) to be a
subqroup is :

acH,beH=aob'e H

Where b-1 is the inverse of b in G.

(b) Define normal subgroup homomorphism
1somotrphism.

(¢) Provethatevery field is an integral domain.

IR
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